
Cycle 5 - Week 17.1
Whole Numbers 1

Fractions 1 2
Algebra 3

Measurement 4
Geometry 1 5
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Use <, > or = to make true.

9 tens 6 ones         101     

six hundred eighty-nine        600 + 90 + 9

Shade the fraction 
bar to find the SUM.

1 + 2 =4 4

Which rule was used to change the numbers 
in Column R to the numbers in Column S?

Fill in the EQUIVALENCE table. 3 meters _______ centimeters

2 quarts _______ cups

5 kilograms _______ grams

What is the size 
of this ANGLE?

5

R S R + 6 = S
2 8 R x 3 = S
4 16 R + 4 = S
8 32 R x 4 = S
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Cycle 5 - Week 17.2
Place Value 6

Mult & Division 7
Fractions  2 8

Time & Money 9
Patterns 10

6

a)  _____________

b)  ________ plants
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Circle all numbers where the 5 has a value of five hundred.

15,276	 17,539	 4502		  8157     

a) Write a division sentence and solve.

Farmer Flint plants 42 lettuce plants in 6 rows of his 
garden. Each row has the same number of plants. 

b) How many plants are there in each row?

How much did our lunch cost if I spent 
$5.26 and Janet spent $6.32?

Shade these figures to 
show the MIXED NUMBER 
as a fraction.

1
1
3

1
1

=3 3

Continue the pattern.

______, _____, ______

17 13 10 15 16 18 12 19

− 10 8



ones tenths hundredths

Cycle 5 - Week 17.3
Decimals 11

Area & Perimeter 12
Geometry 2 13

Data 14

11

12

13

14

64
100

Fill in the table for the fraction.  Write the decimal.

a)	 What is the AREA?

b)	 What is the PERIMETER?
2"

1"

6"
2"

5"

4"

Which figure/s have at least one set of PARALLEL LINES?

I get ______teaspoons less sugar 
from drinking 12 oz of orange 
juice than from drinking 12 oz of 
cola.

     = 1 teaspoon of sugar

Amount of sugar in drinks

Orange Juice 

Water 

Cola 

Root Beer

3 6 12 4 11 5 9 8

x 10 8

14

pentagon        rectangle        triangle        trapezoid

13

a) _______ sq in

b) _______ inches

12

11

=
64

100



Cycle 5 - Week 17.4
Basic Operations 15

Vocabulary/Symbols 16
Problem Solving 17

15

a) _______ b) _______

c) _______ d) _______

16

17

16

17

15 Find the DIFFERENCE. Check with addition.

8426  -  2756  = 

Write the abbreviation for the word.

a) inch	      b) mile	

c) foot 	      d) yard	

Jack has 95 marbles in his collection. He wants to 
the marbles equally with his two brothers.  How many 
marbles will each of them have?

6 12 22 8 20 10 16 18

÷ 2 8


